
=LPDB����

3RPLHV]F]HQLH�5R]NãDG���=%������&(17580�75$16)(58��7\J������

�������������7\J�����

8PLHMĊWQRĞFL�DVHUW\ZQH
�üZ��� GU�.RUQDFND�
6NZDUD�(OĪELHWD� =%�
����� ���)$�0����/�
7-6�����)*�0����:

�������������7\J�����

8PLHMĊWQRĞFL�DVHUW\ZQH
�üZ��� GU�.RUQDFND�
6NZDUD�(OĪELHWD� =%�
����� ���)$�0����/�
1-$

�������������7\J������
�����

-Ċ]\N�QLHPLHFNL�Z
QHJRFMDFML�L�NRPXQLNDFML
�ZDU�� PJU�6]\PD
0DULXV]� =%������ ���
-1*�/���

�������������7\J������
�����

31-1�Z�EL]QHVLH�
SRGUĊF]QLN��ODE�� PJU
1DZURFND�%HDWD� =%�
����� ���-1*�/���

�������������7\J������
�����

31-1�Z�EL]QHVLH�
JUDPDW\ND��ODE�� GU
3LĊWDN�$UNDGLXV]� =%�
����� ���-1*�/���

�������������7\G]��

.XUV�MĊ]\ND�SROVNLHJR
GOD�REFRNUDMRZFyZ� .RUF
]DN�$JQLHV]ND� =%�����

�������������7\J������������

.XUV�MĊ]\ND�SROVNLHJR�GOD�REFRNUDMRZFyZ� .RUF]DN
$JQLHV]ND� =%�����

:�W\JRGQLX���]DMĊFLD�SU]HáRĪRQH�QD�F]ZDUWHN���
OLVWRSDGD������U��Z�VDOL������

SR
QL

HG
]L

Dã
HN

�������������7\J��������
���������

36:�MĊ]\N�KLV]SDĔVNL
$��� PJU�6]\PD
0DULXV]� =%������ 36:�
2-�8&.8�+�$��

�������������7\J�������
��

6HPLQDULXP
PDJLVWHUVNLH� GU�6NXELV
,GD� %LJ�%OXH�%XWWRQ�
=DMĊFLD�RQ�OLQH��=%������
���)*�0����:

Z�W\J�����]DMĊFLD
VWDFMRQDUQH

�������������7\J�����

GU�5RNRV]HZVND
.DWDU]\QD� =%�����

�������������7\G]��

:VSyáF]HVQD�OLWHUDWXUD
DQJORMĊ]\F]QD��NRQZ�� GU
KDE��%RU\VáDZVNL�5DIDá�
%LJ�%OXH�%XWWRQ��=%�
����� ���)$�0����:

:�W\J�����������������
]DMĊFLD�RQOLQH��Z�W\J�����
���PLQ

�������������7\J������
�����

.XUV�ZLHG]\�R�NUDMDFK
DQJORMĊ]\F]Q\FK�GOD
G]LHFL� :HĪJRZLHF
3DWU\FMD� =%�����

Z
WR

UH
N

�������������7\G]���

36:�MĊ]\N�KLV]SDĔVNL
$��� PJU�6]\PD
0DULXV]� =%������ 36:�
2-�8&.8�+�$��

�������������7\J�����

=DJDGQLHQLD�VSROHF]QR�
NXOWXURZH�&KLQ� PJU�;LQ
<DQJ� =%������ ���)$�/�
���/��&+�)5

�������������7\J��������
�����

6HPLQDULXP
PDJLVWHUVNLH� GU�6NXELV
,GD� =%������ ���)*�0�
���:

�������������7\J������

7HRULD�L�SUDNW\ND
SU]HNáDGX��üZ�� GU
5HV]ND�$JQLHV]ND� =%�
����� ���)*�0����:

�������������7\J�����

7HRULD�L�SUDNW\ND
SU]HNáDGX��üZ�� GU
5HV]ND�$JQLHV]ND� =%�
����� ���)*�0����:

�������������7\J������
�����

.XUV�ZLHG]\�R�NUDMDFK
DQJORMĊ]\F]Q\FK�GOD
G]LHFL� :HĪJRZLHF
3DWU\FMD� =%�����

ĤU
RG

D

�������������7\J������
�����

-Ċ]\N�DQJLHOVNL�
VSUDZQRĞFL
]LQWHJURZDQH��ODE�� PJU
2OHNVLDN�$QJHOLND� =%�
����� ���-1*�/���

�������������7\J������
�����

-Ċ]\N�DQJLHOVNL�
VSUDZQRĞFL
]LQWHJURZDQH��ODE�� PJU
2OHNVLDN�$QJHOLND� =%�
����� ���-1*�/���

�������������7\J��������
���������

31-1�Z�EL]QHVLH�
UR]XPLHQLH�WHNVWX
PyZLRQHJR��ODE�� GU
3LĊWDN�$UNDGLXV]� =%�
����� ���-1*�/���

�������������7\J��������
���������

.XUV�ZLHG]\�R�NUDMDFK
DQJORMĊ]\F]Q\FK�GOD
G]LHFL� :HĪJRZLHF
3DWU\FMD� =%�����F]

Z
DU

WH
N

�������������7\G]��

6HPLQDULXP
PDJLVWHUVNLH� GU
5RNRV]HZVND
.DWDU]\QD� =%������ ���
)$�0����/��1-$

�������������7\J�����

-Ċ]\NR]QDZVWZR
VWRVRZDQH��üZ�� GU
5RNRV]HZVND
.DWDU]\QD� =%������ ���
)$�/����/��1-$

�������������7\J�����

'\GDNW\ND�SU]HGPLRWRZD�
QDXF]DQLH�M�DQJLHOVNLHJR
Z�V]NROH�SRGVWDZ� GU
5RNRV]HZVND
.DWDU]\QD� =%������ ���
)$�/����/��1-$

�������������7\J��������
�����������������

31-$�NRQZHUVDFMH� GU
-RKQVRQ�6XVDQQD�6WDF\�
=%������ ���)$�6����:
1-$

�������������7\J��������
��������������

6HPLQDULXP
PDJLVWHUVNLH� GU�.LHáE�
6WDUF]HZVND�(ZD� =%�
����� ���)$�6����:�1-$

�������������7\G]���

.XUV�MĊ]\ND�SROVNLHJR
GOD�REFRNUDMRZFyZ� +DN
(OĪELHWD� =%�����

�������������7\J�����

31-$��VSUDZQRĞFL
]LQWHJURZDQH� PJU
6WDFKXUVND�ûZLHN
6\OZLD� =%������ ���)$�
6����:�1-$

SL
ĈW

HN

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

3RPLHV]F]HQLH�5R]NãDG���=%������&(17580�75$16)(58��7\J������

�������������7\G]���

31-$��VSUDZQRĞFL
]LQWHJURZDQH� PJU
6WDFKXUVND�ûZLHN
6\OZLD� =%������ ���)$�
6����:�1-$

�������������7\J��������
��������������

-Ċ]\NR]QDZVWZR
VWRVRZDQH��üZ�� GU
5RNRV]HZVND
.DWDU]\QD� =%������ ���
)$�5����&��1-$

VR
ER

WD

�������������7\J����������������

6SHF��QDXF]\��3RGVWDZ\�SHGDJRJLNL
GOD�QDXF]\FLHOL�V]� GU�.LHáE�
6WDUF]HZVND�(ZD� =%������ ���)$�5�
���&��1-$�����:)�5����:��8&.8�
1$�5����333

�������������7\J����������������

6SHF��QDXF]\��3RGVWDZ\�SV\FKRORJLL
GOD�QDXF]\FLHOL� GU�0LNOHZVND
$JQLHV]ND��PJU�.LHOLĔVND�-XOLWD� =%�
����� ���)$�5����&��1-$�����:)�5�
���:��8&.8�1$�5����3313

W\G]LHĔ���������PJU�-��.LHOLĔVND

�������������7\J��������
�������

6SHF��QDXF]��(PLVMD
JáRVX� GU�/DQJLHU
&HF\OLD� =%������ ���)$�
5����:�����:)�5����:�
8&.8�1$�5����(*

�������������7\J��������
�������

6SHF��QDXF]��.XOWXUD
MĊ]\ND�GOD�QDXF]\FLHOL� GU
/DQJLHU�&HF\OLD� =%�
����� ���)$�5����:�����
:)�5����:��8&.8�1$�
5����.-1

QL
HG

]L
HO

D

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


